3. 

A retail store stocks portable phones. The following data are available:

Average demand

180 units per month

Ordering cost

$40/order

Purchase cost of the portable phone

$50/unit

Interest rate charged for inventory

15% per year

a)  What is the EOQ? 

EOQ = ____________________

b)  What is the total annual cost of inventory holding and ordering costs? 

Total cost = ______________________ $/year

c)  The purchasing manager believes that the ordering cost for this item could

be reduced to $20/order if an EDI (Electronic Data Interchange) link were established so

that orders could be transmitted electronically. Establishing this would require an initial

investment so the manager is interested in the savings per year the store could expect

once EDI was established. Compute these savings.

Savings = __________________________ $/year
